N = 0l & At & Ml A

SN REHFD
o FRI 2sEY KA
S FXEY XZL(ZNT SEIH) CERED
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Husz
DEHF 5,903,513 5,752,755 150,758
2 749,000 749,000 0
Al 29,500 29,500 0
2 5,125,013 4,974,255 150,758
FIA 258F A 5,801,646 5,650,888 150,758
2 749,000 749,000 0
Al 29,500 29,500 0
? 5,023,146 4,872,388 150,758
FHEY Z(ENY SLEIAH) 5,718,439 5,546,681 171,758
2 749,000 749,000 0
Al 29,500 29,500 0
2 4,939,939 4,768, 181 171,758
TYFEHNE AR L 2 373,004 415,007 242,003
308 XX £ S 0| & 210,827 252,692 A41,865
1 BRSO Z A XA A 210,827 252,692 £41,865
OZIIZ0l THet BAX A 210,827 252,692 A41,865
0o BYFEXT |ANBel  FH 210,827,000 210,827 252,692 A 41,865
401 N EHIL2THEI 1,893 2,000 A107
01 A&t 1,893 2,000 A107
OZTYEXY FYl 23 1,802, 1602 1,803 2,000 A107
403 THXI SIS XH2 01 & 89 120 A31
02 2012 S Ofl H 3 K= X 9/ € ALt 89 120 A3
OZIIZU Ue H2X FASAL 89 120 N
0 BYEXE B2 MHAHS(HEI)
A 83,9009 89 120 N
ol 11 3,638,345 3,424,584 213,761
801 0f i 3,638,345 3,424,584 213,761
01 ZEroIbl bl 3,638,345 3,424,584 213,761
OBl bl 27 3,638,345,0002 3,638,345 3,424,584 213,761
SHEHX OS DD el (FXHE SHE) 81,263 102,263 £21,000
DUE DEHE 22 81,263 102,263 A21,000
201 YEr2 | 81,263 102,263 A21,000
02 32 63,000 84,000 A21,000
OFIRL DEH2 HEDXNN B 23
AT 63,000,008 63,000 84,000 A21,000
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N = 0l & At & Ml A
SN RO D
ma: FIHIN =
S EMFEN BE(FNE STI) CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
BRI 2,466,861 2,615,219 £148,358
FUHEAM EE 1,311,522 1,390,850 AT9,328
EUFET BH(FUHE SLIA) 1,311,522 1,390,850 A79,328
SUFIICS XS 1,258,359 1,330,872 AT72,513
201 2Bt | 383,316 421,932 £38,616
02 232l 334,483 373,099 238,616
ORols&3tHe HEaM B2
AT 43,819,6802 43,820 52,800 8,980
ORols&3tHet #IIABE
A 15,918,320% 5,919 19,440 ~3,521
OfB#s 23 3 103,982,630% 103,983 117,600 A13,617
OCCTV S 2 2 bl 117,300 129,798 A12,498
0 D/ CCTV 23 93,300,002 93,300 105,798 ~12,498
203 Y2 =T 500 2,520 £2,020
TS EEE S 500 2,520 £2,020
Ogts ¥ Fxael AT 500,008 500 2,520 A2,020
401 N EHIL 2 THEI 816,820 846,820 30,000
01 Al bl 816,820 846,820 230,000
ORelsa3tHet AR
AT 244,000,0002 244,000 264,000 20,000
ORQIG&3tHa 0I®&X FF 10,000,000 10,000 20,000 A10,000
405 TtoHF St 57,723 59,600 INK: 1
01 L2 B3 St 57,723 59,600 A1,877
Oz DM 2 4% 7Y
A 30,845,7108 30,846 32,000 A1, 154
OXFEM F&g CCTV &7 &K
A 21,805,008 21,805 22,000 A195
OS=dg ARH 7Y 23 1,971,580% 1,972 2,500 ~528
FHX BN 2,693 3,695 A1,002
201 et | 8,740 9,742 A1,002
01 AtR 22l H] 8,740 9,742 A1,002
OS=32Y I=| 23 3,198,0009 3.198 3,200 N
OEET 33 2,888,000% 2,888 3,888 A1,000
EUFIA AABHL 2Y 40,470 46,283 £5,813
308 XHXIEHH S0/ ™ 8,010 23,823 A5,813
1 ZIIBSONHE YA XA b 8,010 23,823 £5,813
ON&OIER2IBE HOBHL 2Y
A 18,010,0008 8,010 23,823 £5,813
HHS AU (F P D) 1,155,339 1,224,369 69,030
dlE 2 (YA (ZHNE SHaH) 1,155,339 1,224,369 69,030
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el

hef ol ot
HY2IZH ()
QIHA2EH (XA (FUHE SEH)

SA Y- SA(BA) - NRAY - BES 0fl 0| & o H RS2

A2HH MRAG (X3 1) 1,155,339 1,224,369 269,030
101 121 H] 1,098,234 1,167,264 269,030
01 2= 236,646 241,646 25,000
OdH+g 3,610 8,610 25,000
0 IE=L (W) 43 440,000& 440 1,440 1,000
oRsRA+E & & 730,000 730 2,730 A2,000

0 32+¢ Jtat=(208014)
& & 200,000 200 1,200 21,000
o E2+E Jtaa(540la) ZE 200,000 200 1,200 21,000
02 Bt X E =+ 771,773 824,453 A 52,680
OSH(AZLSAMAINM" 0" S) 538,805 583, 155 44,350
o thgt 83 404,353,670 404,354 448,704 244,350
OAZel =g (At MY IH"OH"S) 23,227 23,228 A
o thgt 33 15,835,720 15,836 15,837 A1
O4HEE I (NALETHLIIM"0L"Z) 64,451 72,780 A8,329
o =X Htet 3 & 48,910,140 48,911 57,240 8,329
03 RIHAKZZNHE =+ 89,815 101,165 A 11,350
O& A= 23,746 35,096 211,350
0458 2 & 1,996,000 1,996 13,346 A 11,350




